TR29FEE BHNA-7VHE XS H29.8.27
(E4E] IEfr | SEE | SHFE | K4 1 2 3 4 5 6 &5t kA
50mP60MW 1 1| 28| & 974 | 101.0| 1036 103.2| 1023 98.7 606.2 |x=22
50mP60MW 2 1| 30[m# arx 98.6 | 1038 975| 101.3| 102.9 98.4 602.5 |x=20
50mP60MW 3 1| 36[=Atkz=E#I| 101.2| 1025 99.2 99.9 99.9 99.1 601.8 |x=15
50mP60MW 4 1| 32|mus =@ | 1007 | 1029 | 100.3| 1003 [ 100.6 95.9 600.7 |x=21
50mP60MW 5 1| 29| fm— 98.1| 100.3| 100.0 [ 1026 96.9 99.0 596.9 |x=19
50mP60MW 6 1| 34| =2 96.8 98.7| 1005| 101.9 95.9 99.9 593.7 |x=16
50mP60MW 7 1| 37| = 96.3 95.4 99.1| 100.4 98.3 98.1 587.6 |x=15
50mP60MW 8 1| 42 |hs —ik 99.0 97.8 97.1| 100.2 95.7 96.5 586.3 |x=9
50mP60MW 9 | 4|ms =% 98.6 98.0 98.3 97.4 96.7 95.8 584.8 |x=14
50mP60MW 10 1| 39|wE == 91.3 97.2 | 100.1 99.7 94.8 98.0 581.1 |x=10
50mP60MW 11 1| 40|mE B3 98.9 95.3 95.3 94.5 95.1 93.7 572.8 e
50mP60MW 12 1| 31|k £ 88.1 940 | 101.1 98.6 92.7 94.0 568.5 |x=11
50mP60MW 13 1| 35|85 @ 91.1 92.2 96.0 94.9 92.7 98.9 565.8 |x=12
50mP60MW 14 1| 38wz = 91.0 89.5 95.0 95.3 96.2 95.5 562.5 |x=10
50mP60MW 15 1 33[R#F H— 0.0 [DNF
50m3X20MW 1 2] 32| limEALR 95 95 97 98 87 90 562 [x=16
50m3X20MW 2 2| 36|tE BE 91 96 93 97 91 93 561 [x=18
50m3X20MW 3 2|  30|EE BE 93 93 98 96 83 92 555 [x=14
50m3X20MW 4 2|  28[iEmE k% 920 89 95 96 88 92 550 [x=10
50m3X20MW 5 2] 31| mA 91 91 95 94 81 85 537 [x=13
50m3X20MW 6 2] 33|k wE 89 89 96 96 83 79 532 [x=10
50m3X20MW 7 2| 29|zm Bt 920 87 96 96 79 81 529 [x=10
50m3X20MW 8 2| AzmE —= 86 86 92 96 85 73 518 [x=8
50m3X20MW 9 2| 35|xn = 77 86 94 93 50 70 470 [x=3
0.0

10mS60M 1 1| 18|tE ¥ | 101.9| 1022| 1015| 1025[ 1014| 1015 611.0 |x=33
10mS60M 2 1| 17|2R8 a® 99.1 98.8 980 | 1032 | 1004 | 101.2 600.7 |x=27
10mS60M 3 1| 19|43 =i 97.4 97.9 97.7 98.3 95.7 99.8 586.8 |x=20
10mS60M 4 1| 21|gim mE 91.3 94.0 89.9 91.5 91.8 94.6 553.1 |x=9
10mS60M 5 1| 20|F ® 78.8 755 90.4 87.7 79.1 776 489.1 [x=5
10mS40W 1 1| 24| um HFz| 101.3| 1005 | 1028 99.9 404.5 [x=22
10mS40W 2 1| 25|if8E *% 98.1| 1015 99.8 | 101.7 401.1 [x=20
10mS40W 1| 23|30 8 | 1006 | 1002 | 1014 97.0 399.2 |x=16
10mP60MW 1 1| 27|F# xs | 1033 | 104.4 936 | 1039 | 1039 104.1 613.2 |x=48
APGOM 1 21| X% 91 92 91 88 90 89 541 [x=6
AP60M 2 2068 B2 84 79 85 89 86 88 511 [x=3




